commandwindow
clear
clc
syms T1(t) T2(t)
eva=[diff(T1,t) + 3*T2 == exp(-2*t) , diff(T2,t)-3*T1 == exp(2*t)]
dT1= diff(T1,t)
dT2= diff(T1,t)
evacond= [T1(0) ==30 , T2(0) == 30]
df= dsolve(eva,evacond)
T2= df.T2
T1= df.T1
pretty(T2)
pretty(T1)
 
eva(t) =
 
[ 3*T2(t) + diff(T1(t), t) == exp(-2*t), diff(T2(t), t) - 3*T1(t) == exp(2*t)]
 
 
dT1(t) =
 
diff(T1(t), t)
 
 
dT2(t) =
 
diff(T1(t), t)
 
 
evacond =
 
[ T1(0) == 30, T2(0) == 30]
 

df = 

  struct with fields:

    T2: [1×1 sym]
    T1: [1×1 sym]

 
T2 =
 
(3*exp(-2*t))/13 + (2*exp(2*t))/13 + (5*12170^(1/2)*cos(3*t - atan(79/77)))/13
 
 
T1 =
 
(5*12170^(1/2)*cos(3*t + atan(77/79)))/13 - (3*exp(2*t))/13 - (2*exp(-2*t))/13
 
                                          /           / 79 \ \
                           sqrt(12170) cos| 3 t - atan| -- | | 5
exp(-2 t) 3   exp(2 t) 2                  \           \ 77 / /
----------- + ---------- + -------------------------------------
     13           13                         13

               /           / 77 \ \
sqrt(12170) cos| 3 t + atan| -- | | 5
               \           \ 79 / /     exp(2 t) 3   exp(-2 t) 2
------------------------------------- - ---------- - -----------
                  13                        13            13
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